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lmmmmmﬁmmm@mmm
@ Weeeh! Hom=T g9y B 7

i, A |2 M, TR
i, Sf. M. . WrEHE
i, g %, &, dem
iv. S & i
(1) e 19 ii (2) *aS ii 7 iii
(3) FEBid iv (4) ohaes i, ii T iii
Pandita Ramabai with the permission of the Ramabai Association, appointed

an advisory board to advise her, who among the following was included in
this advisory board ?

1. Justice M. G. Ranade

ii. Dr. R. G. Bhandarkar
ui. Justice K. T. Telang

1v. Bapu Hari Shinde
(1) 1andiionly (2) ii and iii only
(3) 1andivonly (4) 1, ii and iii only

2. 3. 9. 1918, Frch Gusdiar oo ‘Rued I’ € Juen ST HoarE 39w Hiof S
B ?
(1) Tt g Her
(2) SI. SEERY e
(3) AR HuR dEe
(4) W3 HYEUE 90T

In 1918 A. D., who advised to the Mumbai workers to establish the organization
‘People’s Union’ ?

(1) Rajashree Shahu Maharaj

(2) Dr. Babasaheb Ambedkar

(3) Narayan Meghaji Lokhande

(4) Bhai Madhavrao Bagal

el HIATEIS! ST / SPACE FOR ROUGH WORK P.T.O.
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3.'mwm@wmm@mmmmwammm
JUAUATER v Hert ?
(1) o Ayl SEs (2) WIS it @18

(3) THNW AT USTSD (4) PO HTRIHT

Who defended Chiplunkar’s attack on Mahatma Jyotirao Phule through his
newspaper, considered as the beginning of non Brahmin journalism ?

(1) Narayan Meghaji Lokhande (2) Bhau Daji Lad
(3) Tukaram Tatya Padval (4) Krushnaji Bhalekar

4, ‘AT q1 WA AL HUedl e TTEugTr=a] Jdifge Gadral SNl gsdl 7
(1) g 3nfr faeyd (aga) www
(2) T AT SRS T
(3) s 3T HraaTed SOl
(4) STIE T YT W

On which of the following matrimonial relationship between two Royal families,
the ancient drama ‘Malavikagnimitra’ throws light ?

(1) Shunga and Vidarbha (Yadnyasen) family
(2) Gupta and Vakataka family

(3) Shakas and Satavahana family

(4) Chalukya and Vardhana family

5. d¢i% FIBd ARG fAfTa= 9eam $3 g1 ?

i. =
iv. 79

v. Hoit
(1) 1,19 iii (2) ii, 119 iv (3) 1,1, iva v (4) i,iidv
What was the medium of trade exchange during vedic period ?

1. Nishka

ii. Krusnal
11i. Shatman
1v. Gan

v. Shreni
(1) 1,ii and iii (2) ii,iiiandiv (3) i,ii,ivandv (4) i, iliandv
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6. ﬂgmmammn% Y YUTAS VAT FAW V@ WA g A U0 e gh 9a
fremfen wre wega sam ywi=h fan vaeh. ] werrgrem gl shEmTde @ e IR,

According to Setu Madhavrao Pagadi, who of the following saint renamed

himself as ‘Shaha Ramjan’ and got converted to Islam by a Sufi Saint

Nizamuddin. It is a mystery of cultural history of Maharashtra.
(1)
(2)
(3)
(4)

Gorakhnath
Gahininath

Jalandharnath
Kanifnath

7. Qi YAl I SHH JIevil .

RERRIEED
ii. YU R
1wv. HEAT 98
1)1y 1,311 1 (2). . 2%, 1,11, 111
(3) ‘11, v, i (4) 1i, iii, iv, i

Arrange the following events in the correct order.

L.
1v.
(1)
(3)

White paper

Poona pact

Nehru report

Dharasna Satyagraha

iv, i1, 111, 1 (2) ' 1v;d¥11, il

iii, iv, ii, i (4) ii, iii, iv, i
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8. [l a® T fawdt ama.
AN, wErrsgre g s e wgwrh it s,
§. o Imane fangmEt yresyEe aan el
%. Tl@ anf wreErE & et ] e qudia o,
T. FEUE WaBHTH o9 9 Al am.
(1) TR TG TEESH
(2) STEHTUH QI qESH
(3) wTBUTEH ST
(4) MuTe R e

The following statements are written about

a. He played an important role in the field of education in Maharashtra.
b. He prepared textbooks on various subjects.

c. He wrote a book ‘Shunyalabdhi’ on Mathematics and Science in Marathi.

d. Keshavrao Bhavalkar has written his biography.
(1) Dadoba Pandurang Tarkhadkar

(2) Atmaram Pandurang Tarkhadkar

(3) Balshastri Jambhekar

(4) Gopal Hari Deshmukh

9. Yeid Usiehid HUSATHT HITHH AT HT STl
3. YU ESiHe 9
¥. 9 Sfast smEifueE

<h. HgE HESH 941

3. 3sT9 YT

(1) § A T =

2) A 3 & 9

3) & 8 9 H

4) 8 @& A &

Arrange the following political organizations chronologically.

a. Pune Sarvajanik Sabha

b. Bombay Presidency Association
c. Madras Mahajan Sabha

d. Indian Association

(1) b a d c

22 A8 ¢ b
(3) ¢c d b a
(4) d b a c

oAl SRHTATS AT / SPACE FOR ROUGH WORK
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10. GrefteRd o Aol gEed suu Quar e ?

(1) wiearft ggsifan uar=h e s,

(2) faemeats gssoma @rurft e 9% T2

(3) s Il HITE) AT F% T, 989 50 WARGHE 9UEH IUTE J

fég aftem vwa @,
(4) Tdfiee A8E i SR I iR nerad] fitmesr gee AT s,

Which of the following decision was taken by Sabarmati treaty ?
(1) A competitive co-operative party should be established.
(2) Students should not be involved in politics.

(3) There should be no discrimination among lower caste workers and a team
of SO volunteers should be formed and Hindu Muslim unity should be
maintained.

(4) A committee of Motilal Nehru and Jayakar to determine the members of
the Central Legislature.

11. 3. 9. 1934 U9} ‘F¥eh GuA' Th Adhil YT TgUH Wieiicideh! hIvedl TidTd A9 0T

3ATet ?
(1) 3T (2) dTfieETg
(3) (4) <A

In 1934 A. D., which of the following region, witnessed the establishment of
‘Karshak Sangham’ as a peasant organisation ?

(1) Andhra Pradesh (2) Tamil Nadu

(3) Kerala (4) Bengal

12. TEREEE Ioa@ ‘THET ddhala Ufdgiiaes Al 3™ vt e ?
(1) ufed A J8& 3nfor €. . dgae
(2) 9. €. T 3mio €. 9. e
(3) SrE <@ 3fur 7. fa. Fdet
(4) AoITETEE Yeada ATfur erfaH! Aan
Who remarked about the ‘Dandi Yatra’ as, Rama’s Historical March to Lanka ?
(1) Pandit Motilal Nehru and D. J. Tendulkar
(2) P. C. Ray and D. P. Mishra
(3) Shankarrao Dev and G. V. Ketkar
(4) Appasaheb Patwardhan and Suhasini Nambiyar

eHeedl FHIHETAETS AN / SPACE FOR ROUGH WORK P.T.O.
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13. Grelie faum wongeyia amga ?
i, YA TSRO HRehd Baet.

ii. et S IR EarerEEa siferaas e wfiwna.
iii. Sofaag isfan 9 fYvar farrn sk9e .
iv. QI HIEaeEEd e vl e aem=n @ S,

(1) T (2) gHEA
(3) 3T (4) 3N

About whom the following statements are related ?
i. Religion was separated from politics.
ii. Adopted a policy of seclusion towards brave women who followed Sati.
iii. To stop child marriage and widow marriage was encouraged.
iv. Claimed that the final decision regarding the social law will be his.
(1) Babur (2) Humayun
(3) Akbar (4) Aurangzeb

14. G@HcuE et fefew usteda ety vt gar ot
i. I YRAEIA IBET=AT G draqs! faunmdiea e Son frere.
ii. 1857 <A1 IBENE ®REC YA WIS A5 G HITAIT A5k 33T A SATA.
iii. HIGAET 9 AT GEHIHI T @NET 9 IR AT,
(1) id9ii (2) ii ¥ iii
(3) 149 iii (4) U g9

Bhills in Khandesh protested against British rule because

i. The Bhills of the Satpura division got inspiration from the event of the
uprising in North India.

ii. Taking advantage of the revolt of 1857 Bhagoji Naik and Kazising Naik
joined the revolt.

11i. Kazising and his associates burnt government treasuries and post

offices.
(1) 1and ii (2) 1ii and iii
(3) 1and iii (4) All of the above

& oedl THIFTEIS! SPT / SPACE FOR ROUGH WORK

A
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15. @Al Horen gauarga - 7 e Tsaeh aea fram aree ?

A, | ERW

§. g 9|

%, R TR

g S

(1) 3t anfr § %4 (2) & 3T &% Herd
(3) 31 3 € e (4) 31, F 3T % B

In which of the following newspapers did Annie-Besant present her thoughts
about Home Rule Movement ?

a. New India
b. Common Weal
c. Bombay Gazette

d. Telegraph

(I) aandb only (2) b and c only

(3) aandd only (4) a, b and c only
16. Gioie [9U™ g7 :

. UGS HEU YA THeAS Aafafaddl wHl .

9. TUWHY SRR [ ATET JEds HROME .

%. Wil Ay Il 391 S SRS T WA M’ TgUH FeEigdr.
(1) % faum & st 3

(2) %o fqum 37 FUR IR

(3) aa faum™ 371 3o 9 ST 37”4

(4) Toum 31, ¥ 3nfor % SUE 3T

Observe the following statements :
A. There is loss of bio-diversity due to dumping of toxic waste into soil.
B. Deforestation is responsible for frequent floods in river.

C. Fransisco Mendez was known as ‘Amazon Gandhi’ due to his work in
energy field.

(1) Only statement C is correct

(2) Only statement A is correct

(3) Only statement A and B are correct
(4) Statement A, B and C are correct

@oedl THHTAETS A /| SPACE FOR ROUGH WORK P.T.O.
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17. wrdtdie g @d eEgr deed™ ___ q&d .
(1) TREESA SAATFTEE (NO,)

(2) TrgE JiEETEE (N,O)

(3) TGS FRANTFETES (NO,)

(4) TEZSA (N,)

Nitrogen fertilizers in soils releases _ when broken down by bacteria.
(1) Nitrogen dioxide (NO,)

(2) Nitrous oxide (N,O)

(3) Nitrogen trioxide (NOj,)

(4) Nitrogen (N,)

18. 3N HeWid Greiiel Hivrd! fau™ sy 3mRd ?
H. A g W& FHEd g,
9. 1985 A& 3 AT 65 TS T 3T,
F. 16 L 7 SAMTaeh A a8 T8 |qe/ et Al
€. 1989 WA 3NAH &A™ HRUMA WA ISR q41 HTAvITd AT,
(1) & A, ¥ M1 %
(2) %o &, & T
(3) e 31, & AT
(4) =0« T4

In relation to Ozone which statements are true ?

A. Ozone is called protection shield of the Earth.

B. In 1985 it was clear that Ozone layer has holes.

C. 16 September is celebrated as World Ozone Day.

D. In 1989 chemicals responsible for Ozone depletion are banned to
utilize.

(1) Only A, Band C

(2) OnlyB,CandD

(3) Only A, Cand D

(4) All the above

Shoedl SIHTETS ST / SPACE FOR ROUGH WORK

A
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19. Greliedsdh v gRfRufeh s9=m=n yer T@ ?

(1) §&&¥ 7 (2) IR FEgEEE TR

(3) =R HAN (4) I T

Which of the following is not the type of Ecological pyramid ?

(1) Pyramid of number (2) Pyramid of biomass

(3) Pyramld of food web (4) Pyramld of energy
20. FHE AT T AT R/ GATFoTER MR uftomy saa & __ TgUTdr.

(1) a1 s (2) <A IS

(3) M= Ts (4) freeA

Some species if eliminated seriously affect the ecosystem. These are called

(1) Blue stone (2) Red stone

(3) Yellow stone (4) Keystone
21. TS Ahdra e 81 Wicfiordehl IV Je1er dgra $F aqufer 9r JeRifia geiferer

3R B T & ?

(1) B 3T H (2) C 3 G (3) D T F (4) E 3mfor A

Observe the following diagram and state which of the following alphabets
indicate the gibbous phase of the moon ?

(1) BandH (2) Cand G (3) DandF - (4) Eand A

oAl FHIEEIE SR / SPACE FOR ROUGH WORK P.T.O.
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22. ‘‘yafaww o gfaren fhar shaaggien shaw, @@, faem g goagat qRom Ot |
ufifed, fosh ek 3 o= wE 2.

i & e wivf St ?

(1) fvasiw (2) fererfet favas

(3) u #. T (4) S feny

“Environment means the sum total of all conditions agencies and influences
which affect the development, growth, life and death of an organism, species

or race”.

Who created this definition of environment ?
(1) Universal Encyclopedia (2) Britanica Encyclopedia
(3) A. C. Tansley (4) Jackie Smith

23. TN TSI Yeud gi@ss, e anfor @fie dier= are faatia e 21md.
Greiieideh! v RO A1 Wi e faqum srofiyg R ?

a.
b. Ufsaq USEAFT=AT YT YSi=ITE WHIUT AT 3778,
C

. UiTEH USEIHTAT Ye9Td g9 39T 9 SHie 3R,
d. Ufvan TSEIHRAT YeuTd SATaeHT Wi & 37ceq 3Te.
(1) % a FUSH 3R (2) Wad a AT b S HT2d
(3) a, b 31 ¢ FUK 3”4 (4) ®Fd d ST 3R

In the western part of Rajasthan minerals like limestone, gypsum and mineral
salts reserves are distributed.

Which of the following reasons are responsible for this occurrence ?
a. Western part of Rajasthan was submerged under sea water during
permocarboniferous period.
b. Western part of Rajasthan receives low rainfall.
c. Western part of Rajasthan has hot and dry climate.
d. In the western part of Rajasthan the area under vegetation is very low.
(1) only a is correct (2) only a and b are correct

(3) a, b and c are correct (4) only d is correct

oAl FHIHTETS! S / SPACE FOR ROUGH WORK
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24. WiieE Horen gea g 9 sfwage @fer o aiftes | ?

(1) =S 7T (2) VR T
(3) st g (4) BT e

Which of the following soil contain the maximum proportion of iron and

bauxite minerals ?
(1) Red soil (2) Regur soil
(3) Laterite soil (4) Alluvial soil

25. Telt o fum feeht aRa cmdsht (A) 2 Yfaurgd 3mq (R) @ < ST IR, fedtean qatan
st 3W Rz

(A) HTIE & 91 T G Y§ Fedl 1A AR, Ram goht 9 e .

(R) Heit Fqg IR TATHHIHTT HIgH IcaTeH Ie¥ fohar sramas a1 faehmoft 2.
(1) (A) 3R (R) St S ATed AT (R) B (A) & TR TR AT

(2) (A) 3P (R) St A=K 312d TG (R) 7 (A) @ @ TSR A1

(3) (A)? U 3R 9 (R) B I AR

(4) (A)? SF AR I (R) B S AR

Given below are two statements one labeled as Assertion (A) and other labeled
as Reason (R). Select correct answer from the options given below.

(A) Cotton is not a weight lossing pure raw material, besides is light in weight
and durable.

(R) The localization of the cotton textile is found either in cotton producing

region or near market.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

@Al THIETEG SN / SPACE FOR ROUGH WORK P.T.O.
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26..mmmﬂamwmmwﬁaﬁaﬁaﬂ%?
(1) weg (2) fEn (3) e (4) TufRt

In the physical map of India, Maharashtra plateau is shown by which of the

following colours ?
(1) Dark green (2) Green (3) Yellow (4) Brown

27. GWiehes S feash o menutdie =t smafeq aar 2
(1) 219 (2) 21 3
(3) 23 F= (4) 22 fedst

On which of the following day does the summer solstice occurs in the southern
hemisphere ?

(1) 21 March (2) 21 June

(3) 23 September (4) 22 December

28. YA HGH JCHTA RaTaAd IS YW SRl
(1) STEYR g0 JATQIeH
(2) TEIR TSAT=A1 AGIGHS fdaTedrd YT TET=AT Yewd et SigHR Jeur fHmior
gral

(3) YHY AYZThEA WHTThS IR dTgdTd
(4) T YEArsA1 910 W IARE Sy 95 gl

Winter rainfall received by the Mediterranean region is the result of

(1) Shifting of pressure belts

(2) Low pressure belt occurs over the Mediterranean region during the winter
season due to shifting of pressure belts

(3) Winds blow from the Mediterranean sea towards land

(4) Orographic rain developed on the windward slope of the Alps

oAl FIHTETE! AP / SPACE FOR ROUGH WORK
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29. uftam WRfhes weramoren fmaEd yrma s amitral s R
(1) Ry wrramoen oftadsda fmadl wm s geren Im
(2) SR wErETTUen uftan Rl sren awiar gdaOT THte AR
(3) Ul weram =N uftemsdia wrmma @ Ian e IR
(4) U wgrarr=n ufeadt s arrdirrat Missn swoTErR. JtrEssard

Trenches are found mainly along the coast of the western Pacific Ocean
because

(1) The western margin of the Pacific Ocean is the sub-duction zone

(2) Along the western border of the Pacific Ocean parallel mountain ranges
are aligned

(3) The continental slope of the western part of the Pacific Ocean is steep

(4) The western part of the Pacific Ocean is characterised by a large number
of trenches

30. ‘HirgTE! HER § WRAE TEHENET ISR Gieflerdeh! vl Jrarateiid qiferd=n aRom
IR ?
(1) I3 97 IR e vdaumEda figged ol d aYd AT
(2) TIE HEEH WHUT
(3) HRATEAT IS HIhgA MY e Iod JIPHR TgT=T B0 fodr
(4) W 9@ fAuivr goml aRgyurrdiel =
The climatic phenomena retreating monsoon is the result of which of the

following atmospheric condition in India ?

(1) After reaching to the Himalayan ranges the south-west monsoons
retreats

(2) The apparent movement of the Sun

(3) The expansion of the high pressure belt from north-western part to
south-eastern part of India

(4) The occurrence of variability in the atmospheric pressure developed over
the Indian sub-continent

@ ocdl FIETETS S / SPACE FOR ROUGH WORK P.T.O.
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31.'meﬁaﬂﬁaﬁmﬁ/aamﬂﬁm/ﬁaﬂmm%ﬂ?

TR IS F0H Yaald Y@ Smm 9 e qfioemdlia e @it el
TR :

N, WEYS yea Wre gidmorns ardl-qui @R,

§. gowet AfE simren glima MeEd 7= @n.
%. Tlveg SeUR SR 9 w1 e B 9d= @n.
T. W HECIT™ SR 9 TIr=A1 SR e T @R,
(1) & A

(2) e gd TOR

(3) TR ATH

(4 TR ATH

Which of the following is/are correct statements ?

In Maharashtra, in order from north, the major hill ranges on the plateau

and the river basins to their south are as follows :

a. Tapi Purna basin to the south of the Satpura mountain range.
b. Godavari river valley to the south of Satmala Ajintha hills.

c. Harishchandra Balaghat hill and Bhima river basin to its south.
d. Shambhu Mahadeva hills and Krishna river basin to its south.
(1) Onlya

(2) All are correct

(3) Onlyaandb

(4) Only aandc

@oedl HETETE] ST / SPACE FOR ROUGH WORK

A
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32. HEMLIE UM W@ Wd TG 3 f3ewmoft ft asprepn wmeeht am wron
(1) WG ITH GEun=a1 shiswondte @ It Feren sifeadt @me @t ashen
ISR
(2) WRTAIGE ITH Y& HihvTdia Tare ydad] @ams 6 TR e 31mR
(3) TRITEA ITH UTFUI=AT HITHUITIe! TeIT=A1 To3T=a1 AN ot THTHR HTeieh! TR
(4) UTEET TS JUSUT ST Hemgie 39 813 ot Ishiehr Frerel 318

The Sahyadri range 1s not straight but at many places it is curved, because

(1) The Sahyadri range is curved at many places because of the headward
erosion of the Konkan rivers originating in Sahyadri

(2) The Sahyadri range is curved at many places because of the lateral erosion
of the Konkan rivers originating in Sahyadri

(3) The Sahyadri range 1s curved at many places because of the downward
erosion of the Konkan rivers originating in Sahyadri

(4) Due to heavy rainfall the Sahyadri range is heavily eroded and hence it
1s curved |

33. RN T FON TUTSAT o+ HlAdl T=41 IATd TgaTedTa uvare SHI0 d1@d, Rl
(1) ¥6cT TG IS HIA TEAT THTd Joi-ggsdt Hig= JHIUMER 8id
(2) 3 A SIS HEQ T UHTE Ye-ggs HiguT AT g
(3) I TEr=A1 UETE S 9 AR WA AU Jo-Igs grd
(4) 0 TE=AT AT I TSI AT Wi THUTG I1ogr=n {31 Hidrd

As compared to the Godavari and Krishna rivers, the course of the Kaveri
river receives large volume of water during winter, because

(1) The course of the river Kaveri receives heavy rainfall from the south-west
mMonsoons

(2) The course of the river Kaveri receives heavy rainfall from the north-east
monsoons

(3) The course of the river Kaveri receives rainfall from both south-west and
north-east monsoons

(4) The tributaries of the Kaveri provide large volume of water to the course
of the Kaveri

&Hoedl FIHTATS] AT /| SPACE FOR ROUGH WORK P.T.O.
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34. Iurren R PR waE % 3w T @it Horen Temr Tae e gam
forg svaren was den oM 7

(1) Iarmen v Pfvadsora squada gen 3 NAem g 3

(2) Iarmren v fPAftadisone seen yeaia = eE  EEE aEd

(3) Iemrem v Pftadieom s g vgerh s

(4) Iavrem A fPfvadsona argE @R e rEEE 3w

In his theory of industrial location Alfred Weber tried to establish the pivotal
role of which of the following factors ?

(1) Labour cost plays a pivotal role in the selection of industrial location

(2) Cost of raw material plays a pivotal role in the selection of industrial
location

(3) Market accessibility plays a pivotal role in the selection of industrial
location

(4) Transport cost plays a pivotal role in the selection of industrial
location

35. Giciia feuHrET faur F51 Wi HIvd/FIord @Ay /3 s0et 38 /37ed o ShairaT 9

1. SHiza I TgU FaarsTH Jeeiel 3.
2. Temrerdim wevma Sz awn esd e,
(1) %aa 1 U 318

(2) SFa 2 FUS 3R

(3) T 1 3o 2 SUE aRd

(4) 1 ¥ 0 A1 9 2 € U @

Consider the following statements and select the correct answer using the
code given below.

1. A compact settlement is most probably surrounded by hamlets.
2. Compact settlements are not found in the Himalayan region.
(1) Only 1 is correct

(2) Only 2 is correct

(3) Both 1 and 2 are correct

(4) Neither 1 nor 2 is correct

wHeed| FETETE | / SPACE FOR ROUGH WORK
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86. ___ wn veratEn wfdvssar fofas (critical) ammmrem @reft I 8.
(1) 9ESH (2) U
(3) aifoaTES (4) IR AT
. are materials whose resistivities become zero below a critical
temperature.
(1) Conductors (2) Insulators
(3) Super conductors (4) None of these

37. R UGG 9 36° WA [aTn J|U=an g |Hde AT GH&Y 3det, @t fohdt wfemm aam

Blae 7
(1) 8 (2) 9
(3) 10 (4) 11

If an object is placed symmetrically between two plane mirrors inclined at an
angle of 36°, then how many images will be formed ?

(1) 8 (2) 9
(3) 10 (4) 11

38. §+hg+_;.=1am,anfamﬁm 1 TR SEE T,

(1) HTad G
(2) IS GHIH
(3) Ur=heral AW
(4) I FHH

Ee hg + % = constant is the mathematical statement of
P

(1) Equation of continuity
(2) Bernoulli’s equation

(3) Pascal’s law

(4) Euler’s equation

&oe™l FIHTETS ST / SPACE FOR ROUGH WORK P.T.O.
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When oa-particle emits from a radioactive element then

(1) atomic number decreases by 2 and mass number decreases by 4
(2) atomic number decreases by 1 and mass number decreases by 2
(3) atomic number increases by 1

(4) atomic number and mass number remains same

40. HA™T AU 104°F 3R, B aquH fordt ferft afcaaa ame 7
(1) 35°@fcqam (2) 37°afcom@ (3) 39° Afcqam (4) 40° dfcwam

The fever of a child is 104°F. What is this temperature in degree Celsius ?
(1) 35°C (2) 37°C (3) 39°C (4) 40°C

41. Wladsh! ivd f¥um sist 3R ?
(1) TEMET S YISt SR AR ST atd HHY 7107 AT i FHt 37aw
AT G9id S 3791,
(2) TSN ST AR SR SR AR AT Fata e 30T GITarg wHid S8 37w
AT Gdid HH 379dl.
(3) TETET AT GIANUET IRAId A F i HH I FAEAHT TREE Gal.
(4) T 9 GIURE AR SR 9 HHq HH 3Tt JAHAHT Faid S 379l

Which of the following statement is correct ?

(1) The speed of Planet is faster when they are nearer to the sun and slower
when they are farther away from the sun.

(2) The speed of Planet is faster when they are farther from the sun and
slower when they are nearer to the sun.

(3) The speed of Planet is same when they are nearer to the sun or farther
away from the sun.

(4) The speed of Planet is faster when they are nearer to the sun or farther
away from the sun.

Sheedl HIHTETS! ST / SPACE FOR ROUGH WORK
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42. wieha MEn a1 - Naga 9  ren nrd Som A

Ao TR Im

W, 3 HfETae i. 73y

9. T SlEqad i, el

§. & SfgIad iii. @Ay

T ®,, SEae iv. Udaanaa3qon
N = & g

(1) iii ii iv i

(2) iv i ii i

(3) i iv i i

(4) 1 iii 1\Y i

Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease
a. Vit. A i. Rickets
b. Vit. D ii. Scurvy
c. Vit. C iii. Anaemia
d. Vit. B, iv. Night blindness
a b c d
(1) 1 1 v i
(2) 1iv i i iii
(3) i iv 11 11
(4) i 11 v 1
43, fEm g e aeqd 9 ARSI Yl ANRE IR,
(1) & (2) dIges
(3) ==/ (4) ==}
Anguina tritici is the parasitic nematode found on ___ plant.
(1) Wheat (2) Rice
(3) Jowar (4) Bajra
THeed| THIATETE AR / BPACE FOR ROUGH WORK P.T.O.
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Conchology is the study of what ?
(1) Coelenterates

(2) Mollusca
(3) Shells of Mollusca

(4) Mantle of Mollusca

45. THiges! Fiig Wi YGHE HEaTd N o Wiefier AR awer A
. I yniigsdintia gau wafa Aer o1t o
9. goguroume o fguefia aafida saam
%. q Baa SHHIEE T
3. oM HEd 9 A

Sodsh! SHivrd faum /faus st 3R 2
(1) ® A (2) 31, § 37101
(3) 3, I3 H (4) e I IO

Phyllum Mollusca contains soft bodied animals characterized of :
a. They are second largest phyllum in animal kingdom

b. They are generally bilaterally symmetrical
c. They are only Terrestrial animals

d. They are having muscular foot

Which of the statements given above is/are correct ?
(1) onlya (2) a,bandd
(3) a,bandc (4) only aandb

&Hoedl EHTHTETS! S0 / BPACE FOR ROUGH WORK
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46.

47.

WA HA THE YRS TN ] WRATAS S -JUTon=n 9 g ?

A, vy fem

§. S Ygdl guwon

H. A yroat Ut wate Afvad

3. Y-UTTR THATH

(1) 3, 31 (2) @, & anfr g
(3) 31, § T 8 (4) aleht e

Which of the following major policy interventions are the part of the land

reforms in India ?

a. Abolition of intermediaries

b. Tenancy reforms

c. Fixing ceilings on land holdings

d. Consolidation of land holdings

(1) a,bandc (2) b,candd

(3) a,bandd (4) All of the above
3N A ATaTeff Shivr AR ?

(1) wmesdter gt

(2) YTER SR

(3) UE ggushes Merl 97 FemErel T 3@ IS AT

(4) Tga &b

Who are the beneficiaries of Annapurna Yojana ?
(1) School girls
(2) Casual labours

(3) Senior citizens who are not under National Old Age Pension Scheme

(4) Retired soldiers

el HIHTETS! AN / SPACE FOR ROUGH WORK P.T.O.
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48, wgfera g U= W &1 34,
(1) 9= g , I gl X anfr Jafifer aremaurden gt @ Fr=andte aarHa
(2) IT=THS TGt QAN AHEET T T AT=ATAS T
(3) +afifs arumdudan g& gt anfr seu=irdliet gt ¢ ATt wwan
(4) Agfts qraFgu=n ga&i S N Thaen I R r=arder aua

Balanced growth rate aims at

(1) equality between growth rate of income, growth rate of output and growth
rate of natural resources

(2) equality between growth rate of income and growth rate of population

(3) equality between growth rate of natural resources and growth rate of
Income

(4) equality between growth rate of natural resources and growth rate of

population

49. AR {US
9. VeI AhaEs faehg et
%. TSI AIhaEAd Sha el
g. AHEEIA U9dd 918
(1) S A (2) ad 3 3T §
(3) e 3 30T B (4) sl b

Urbanization means

a. Centralization of population in the cities

b. Decentralization of population in the cities

c. Centralization of population in villages

d. Increase in density of population

(1) Only a (2) Onlyaandb
(3) Onlyaandd (4) All of the above

oAl FIETATS S0 / SPACE FOR ROUGH WORK
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50. ST eSS 9 Wgh uRada s (AMRUT) fwdt @refiedd v frum atee JmEt 7

(1) AMRUT 2 YRa §@E W@ AfEm o

(2) w3 W'l sEEr ded I R e gw FD am

(3) © e weumHie wrvaTem YESsTE ateRr Gt

(4) 25 3 2015 982 T 500 WEUHEA A HEat=fd Hoaa 3

Which of the following statements about Atal Mission for Rejuvenation and
Urban Transformation (AMRUT) is not correct ?

(1) AMRUT is flagship mission of Government of India
(2) It was launched by Ministry of Housing and Urban Affairs
(3) It addresses the challenges of water supply in cities across the country

(4) It was launched on 25t June, 2015 in 500 cities in the country

51. Siegl TETEN HearEl digaal o <Fh Thar camen iU 3@al, ES! o $2d
IH I (Sgh) SR A I
(1) 20.33 (2) S0.33 (3) 40.33 (4), 33.3
If deprivation score of a household is percent or greater, then that
household is called multidimensionally poor.
(1) 20.33 (2) 50.33 (3) 40.33 (4) 33.3

52. S 1991 UgA FdHaeddic QT 99 GURUIEE! ST IGRIBUMS 3T AT el A1
H. YR A0 Wisad T8 FERM
|, e fafeo
%. Trfaaue snfor grdwfie JanT guron
g. fa<dr@ &= guron
(1) 313§ (2) @& 3T g (3) I, Famursd (4) 3IH,q, BIAMNS

Since July 1991, comprehensive liberalization measures have been undertaken
to improve the supply side of the economy. Among these the more important
are :

a. Trade and capital flows reforms

b. Industrial deregulation

c. Disinvestment and Public Enterprises Reforms

d. Financial sector reforms

(1) aandb (2) candd (3) a,bandc (4) a,b,candd

&ee™] FHIHTETS ST / SPACE FOR ROUGH WORK P.T.O.
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53. fufay Rs Teragm Fatearh et st arfesmm g Jam.
A R g, i

9. a5 ffem, sa= e w2

. TiEh fdem, snyfdie

3. GUEYE I wvEd g4

(1) 3 % (2) ¥ e

(3) = % (4) A, 9, % M8

The long-term objectives of economic planning, as spelt out in various plan
documents have been as follows :

a. Economic growth, self-reliance

b. Removal of unemployment, reduction in income inequalities
c. Elimination of poverty, modernization

d. Inclusiveness and sustainability of growth

(1) aonly (2) Db only

(3) conly (4) a,b,candd

o4. ﬁmﬁﬁﬁmmgﬁamﬁaﬁmmm
. FEea A, e, 3
§. & 3t e Fifvadt, gara e
F. AU IO HEATH I, A fahE g
T. IS Fehay, feomar umn
(1) 3 %ad (2) 3 amfre
(3) A, d AT & (4) A, 9, H AMTS

The formulation and success of a plan require the following :

a. Planning Commission, Statistical data, Objectives

b. Fixation of Targets and Priorities, Mobilisation of Resources

c. Incorrupt and Efficient Administration, Proper Development Policy
d. Economy in Administration, Education base

(1) aonly (2) aandb

(3) a, bandc (4) a,b,candd

Theedl FHTETS AT / BPACE FOR ROUGH WORK
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55. TERI W TR s wror A mlmw sy Ry @ IR,

(1) sh. fwei= (2) T T (3) R (4) e

‘A country is poor, because it is poor’ this statement is of

(1) G. Myrdal (2) Ragnar Nurks (3) Robbins (4) Marshall
56. T g4 MG nY Hgere TS AR

(1) ®& A (2) % & (3) Wed (4) e 3T AT
Balanced growth theory requires balance between

a. Consumer goods and industrial goods

b. Capital goods and industrial goods

c. Agricultural sector and industrial sector

d. All sectors in the economy
(1) Onlya (2) Only c (3) Onlyd (4) Onlyaandb

57. YOy Ir=41 1,
4. W I3 RIS HE: I FRR Gefrel wee, I TFAR S=a A AlKEET1 LB

gral.
Shedeh! SIvd faum I AR/d 7
(1) 3 B (2) & Had
(3) 31 37U« (4) T v AT

According to Schumpeter,
a. Development is a discontinuous and spontaneous change in the stationary

state.
b. While growth is a gradual and steady change in the long run which, comes
about by a gradual increase in the rate of savings and population.

Which of the statement above is/are correct ?

(1) aonly (2) bonly
(3) aandb (4) None of the above
&eed] FHIHTETS! ST / SPACE FOR ROUGH WORK P.T.O.




Eﬁ 28 Q17

58. T afrll, 2014 X 78 2011 - 12 G i o SHfF TEE I @E ____ uw
TS anfor ardftor e fAfeaa Seft amR.

(1) 50 &0 anfr 35 ¥ (2) 47 ¥ 3nfor 32 T
(3) 55 %w anfor 40 ¥4 (4) 60 T2 anfir 45 T3

Rangarajan Committee, 2014 defined poverty line for 2011 - 12 at Rs.

per capita per day consumption expenditure for urban areas and Rs.
per capita per day for rural areas.

(1) Rs. S0 and Rs. 35 (2) Rs. 47 and Rs. 32
(3) Rs. S5 and Rs. 40 (4) Rs. 60 and Rs. 45
59. 2014 792 yEa fadia gueyaEEd E@flatd Sivrd Q991 3T ST ?
(1) e asm (2) Hueht frawor AT
(3) WUEEH 9 €9 A (4) Tl Td

In 2014, the Government implemented which of the following Scheme for
financial inclusion ?

(1) Demonetization Scheme (2) Property Disclosure Scheme
(3) Pradhan Mantri Jan Dhan Yojana (4) All of the above

60. ST 9 U $E ?
(1) TEEEEt a1 TUHHeq
(2) wieeEd ST FAdHSH
(3) W UEHA [T AT e
(4) | IFAEHATT AleATEId! T alqe!
What 1s meant by Gender Budget ?
(1) Separate budget for men
(2) Separate budget for women

(3) Independent provisions for men in the general budget
(4) Independent provisions for women in the general budget

61. 0.10M W@ HC) Z/[EU=l pH FIeUITETd! Wiefieideh! shivran MM J99 SmEn ?
(1) pH = log,,(1.0x107}) (2) pH = log,((1.0x10?)
(3) pH =-log,,(1.0x107}) (4) pH =-log,,(0.10x10%)
Which of the following mathematical relationships should be used to calculate
the pH of a 0.10M aqueous HCI solution ?
(1) pH =log,,(1.0x107}) (2) pH =log,o(1.0x10%)
(3) pH =-log,;(1.0x107}) (4) pH =-1log,((0.10x101%)

heed] TATATS! WP / SPACE FOR ROUGH WORK
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62. 1.5M H,SO, = 10 dm? F@waga 1.0N H,SO, A FE9 HJ Ta4re 7
(1) fReen gramma 5 dm3 amft e

(2) fe@&n gEvmE 294 1w H,S0, U

(3) feay&m grEvma 20 dm3 uroft ure

(4) & gEvmE 174 39 H, SO, HTefd

How is 1.0N H,SO, solution is prepared from 10 dm?3 of 1.5M H,SO, solution ?
(1) By adding 5 dm? of water to it

(2) By adding 294 g of H,SO, to it

(3) By adding 20 dm? of water to it

(4) By adding 174 g of H,SO, to it

63. NH; 371 BF, =1 JMeaedt @clicdehl SHIvl 9aid 37 3 ?
(1) NH, - s anftr BF, - faltvsa
(2) NH; - W 3711 BF, -
(3) NH; - ™= i BF, - faiitwsa
(4) NH, - Rifiea anfor BF, - <

Which of the following is correct for the shapes of NH; and BF; ?
(1) NH; - Pyramidal and BF; — Pyramidal

(2) NHj; - Planar and BF; — Planar

(3) NH, - Planar and BF; — Pyramidal

(4) NH, - Pyramidal and BF; — Planar

64. WA HIVTT EASTHETIE 80% Hed Il 7
(H=1,C =12
(1) &3 (2) = (3) 3 (4) WHERERH
Which of the following hydrocarbon has 80% carbon ?
(H=1,C=12)
(1) Benzene (2) Methane (3) Ethane (4) Cyclohexane
&ecdl THIHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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65. 180 1 s smat (CH,COOH) 3t 180 3t umft (H,0) THirhia fireset. Tam Feten

ZravmA sfaRes smerEn e $AvE TAH AT,
H=1,C=12,0 = 106

(1) 0.23 (2) 1.0

(3) 0.5 (4) aO&YR HrorrE T

180 g of acetic acid (CH,COOH) is mixed with 180 g of water (H,0). The mole
fraction of acetic acid in the resultant solution is

H=1,C=12,0 = 16}

(1) 0.23 (2) 1.0

(3) 0.5 (4) None of the above

66. 1.0 9id o Iga ANHNEN WHS a0 T gEmen 22.4 Lit T8 o gy 91
s, R T,

(1) 0.0821 atm Lit mol-! K-

(2) 8.314 x 107 Joules K-! mol-!
(3) 82.1 atm Lit mol-! K-!

(4) 8.314 erg K~ mol-!

If one mole of an ideal gas occupies 22.4 Lit at Standard Temperature and
Pressure, then the value of the universal gas constant R is

(1) 0.0821 atm Lit mol-! K-!

(2) 8.314 x 107 Joules K~! mol-!
(3) 82.1 atm Lit mol~! K-}

(4) 8.314 erg K-! mol-!

67. Tdrh €y,

(1) wifegdl - Fiqud (2) unft - IR

(3) @Ffadl - Fegfaud (4) ITeEh - T

Find the wrong pair.

(1) Labiatae - Lamiaceae (2) Palmae - Arecaceae

(3) Compositae - Clusiaceae (4) Umbelliferae — Apiaceae

@eed| THTETE AR / SPACE FOR ROUGH WORK
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68. WHIV-UIANUMHY WHIvat anurdia uies vgeam s Hiv| o ?
(1) NADH, d ATP 3 &I &M (2) NADPH & ATP =1 3931 {0l
(3) NADPH § ATP i fafifdt = (4) af< gd

What is the principal function of the light-dependent reactions of
photosynthesis ?

(1) To transfer the NADH, and ATP (2) To utilize the NADPH and ATP
(3) To generate the NADPH and ATP (4) All of the above

69. UMWY 3WRAGE! 2 TR
A, HEHNSEY
¥, TEEEg
%. WU
8. Wi
FUIH! HIVA II1E /9T SO IR /d ?
(1) % A (2) e S VT H  (3) head I MR (4) Had S
o ______ are precursors of enzymes.
a. Zymogens
b. Ribosomes
c. RNA
d. Protein
Which of the option given above is/are correct ?
(1) onlya (2) onlybandc (3) onlyaandc (4) onlyd

70. Wcdsh! vt faum st=t ARd ?
FH. fot 2 9ica ISR Rd, I Squaries FAffshamr wdt <arm.
9. ot gREMEE s smarm.
%. oo frafirerar ammmeR s Tad.
T. IHEAS g faa REa S/ Hid.
(1) 31 3mfor g (2) A, warg (3) I, Fgamfrs (4 = wd
Which of the following statement/s is/are correct ?
a. Enzymes are organic catalyst that accelerate biochemical reaction.
b. Enzymes are made up from proteins.

c. Enzyme activity is not depends upon temperature.
d. Amylase is an enzyme that act on starch.,

(1) aandb (2) a,candd (3) a,bandd (4) all the above

oAl FHHTETS ST / SPACE FOR ROUGH WORK P.T.O.
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71. wiefeld) SR P 3edz 164 79 g Tl 2
(1) wyenisi P asmrern et s
(2) s usren e vEBaTot sEmEEr st
(3) Tm yunE P osme gEmsTen geernan s
(4) = g o gem gy 9 Femafimd aeren Pefiegsen geer @ @t e

Which of the following statement is not included in Article 164 ?
(1) The Chief Minister shall be appointed by the Governor

(2) The Council of Ministers shall not be collectively responsible to the State
Legislature

(3) The other Minister shall be appointed by the Governor on the advice of
the Chief Minister

(4) A Minister who for any period of six consecutive months is not a member
of the Legislature of the State shall at the expiration of that period cease
to be a minister

72. =2 YA T G d9 5K
3, oHfEad =g 39 <IN AT s at

¥, wgfanas Fievign it fSeaar = aui<a Soadid 9 18 "z sRaH
TN FEa a1

%, SEAE /ATEn FF1 it NSaad AR 18 WG TR HIYH Ao .
z. wfeqa wrda g A Tafash sme @

(1) 3, 8 309 & (2) 31, & AT S

(3) @ sfo % (4) 3,9, Mg

Indian citizenship of a person can be terminated if
A. A person voluntary acquire the citizenship of some other country.

B. A person who has become a citizen through registration is sentenced to
imprisonment for 18 months within five years of his registration.

C. The government of India is satisfied that citizenship was obtained by

fraud.
D. A person has shown disloyalty to the Constitution of India.
(1) A, BandC (2) A,CandD
(3) BandC (4) A,B,CandD

Feed] THIWTEIE WP / BPACE FOR ROUGH WORK
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73. Wi wfure s sen devla wrelietidh dva S /e Horh /Ao am/sma 7

A, i - - g

§. FAS - %3 g e’ € g

®. TR ot - Usgaw frasum vEd

T, TS ~  UNUdishga Usrana falire sorfier gy ssmfdt Sheen
geer amfady v

(1) % A (2) 31 anfor & (B) a,Fars (4 A, F e

Which of the following is/are correct pair/s with regard to acceptance in the
Indian Constitution ?

A. America — Post of Vice President

B. Canada — The concept of ‘Union’ for the Central Government
C. South Africa - Election method of Rajya Sabha

D. Ireland — Nomination method of the members of the Rajya

Sabha by the President who have done special work
in specific area

(1) Only A (2) AandC (3) A,BandD (4) A,B,CandD

74. GEEA TS WINT W1/ 767 Ievd Wicfiedeh! Hivdr/d AR/d ?

3. HUr=AT (Union) 3fbsha Ifeserardt & w=an st sireiedn wirdi=n merat =
i f&dan I SreauarETdt et S,

9. T Ueh TSI=A1 WIS HFT0dIehe @& Ul T o1 Wewid a1 .
®. e ATciedl HINT A3 T Fr=a1 TRvmaErdt fRemeft .

g TyiiHe v fugome wdieer s o -y gy smeEsanit Sl
RTeREft . _
(1) $9a A (2) §,HAMTE (3) 3IHAVE (4) afa |d

Which of the following is /are the main objective /s of Committee of Parliament

on Official language ?

A. To review the progress made in the use of Hindi for official purposes of
the Union and to make recommendations to increase the use of Hindi.

B. Lookinginto the linguistic demands for new States and make suggestions
in that regard.

C. Identify the endangered language and make recommendations to protect
and preserve them.

D. Examine the vernacular education and make recommendations for
effective implementation of the three languages formula.

(1) Aonly 2) B,CandD (3) AandD (4) All of the above
&oed] FIETETS! S / SPACE FOR ROUGH WORK P.T.O.
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75~‘ﬁmwmmmm&m/ﬁuﬁmw.

3. g wied=n wgn gge d@=n 1/5 geErh afevam st wigd @ G9d Ao
A YETE1 TS TrEn anma.

v, foew ulwg s w=man ot uarn fofa guretra ass = wEiHee™ .
Fheth g fqum e,

(1) A 7M1 &

(2) & 37T 8

(3) 3 aMfr s

(4) = AT

Consider the following statement/s with reference to the President of Zilla
Parishad.

A. If 1/5% of the total number of members of the Zilla Parishad moves a

motion of no confidence and passes it, the President has to resign from
office.

B. Sudhakarrao Naik’s cabinet took the decision to give ministerial status
to the President of Zilla Parishad.

C. Vasantrao Naik’s cabinet took the decision to give ministerial status to
the President of Zilla Parishad.

D. Vasantdada Patil’s cabinet took the decision to give ministerial status to

the President of Zilla Parishad.

Select the incorrect statements from the above.
(1) Aand C
(2) BandD
(3) Aand B
(4) CandD

o] FHTETS! AP / SPACE FOR ROUGH WORK
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76. EiTueh! fer-ueATeT T v /e sma 7

1. Hify amm

1. Ty fam amam

1. TS qrmEaria

IV, g wifedt amam

(1) e | SUSK IR (2) e 111 3T IV =0 3R

(3) e I, II1 31TfoT IV st 31mR (4) e 1 3nfor IV s 31

Which of the following is/are non-constitutional body/bodies ?
I. NITI Aayog

[I. State Finance Commission

III. National Commission for Backward Classes

IV. Central Information Commission

(1) Only I is correct (2) Only III and IV are correct
(3) Only I, Il and IV are correct (4) Only I and IV are correct

77. TUHIS A A (Fumon) Afafrm, 2016 =41 IE@ T/
. M AR A Arged A, 2013 (St 16 SIHaER 2014 st @0 re)
IqTd U hedT TR,
§. Esie d99H! (Public Servants) HIeHTE ATV SR A9Siict TG SO
TGN e 3rHetel 2013 =41 FHEART 6o 44 T Qe Goeit U STet 3.

. Yd UH TSAH! AlhIgad YT TATIHT Tsh NT=A1 3ATd he! 378 SUHehResh o 3.

S KGR AEseh YoMl Hiemas 37 g ausfie 30 feadma |ret soar=n
FIAFH= TG gefavama AT 2.

ST hivrt faa™ stsR 3meq ?

(1) A, 93 (2) JF,FaAMs (3 A, Fs (4 =haad

Key Provisions of Lokpal and Lokayukta (Amendment) Act, 2016 :

A. It amended the Lokpal and Lokayukta Act, 2013 (which came into force
on 16 January 2014).

B. It also amended Section 44 of the 2013 Act that deals with the Provision
of furnishing details of assets and liabilities of Public Servants.

C. Made it compulsory that all States should set up the office of the Lokayukta
within one year.

D. The Amendment has removed the period of 30 days for furnishing details
of assets and liahilities of Public Servants.

Which of the statements given above are correct ?

(1) A,BandC 2) A,BandD (3) A,CandD (4) All of the above

oo™l ShIATATS ST / SPACE FOR ROUGH WORK P.T.O.

A
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78. U g w1 s wder @il HIv AR /3R ?

(1) @l anfr Reafres geesn wrmeciea antean gah NPT TREUTIRE TG TEvIT=
geuia falre awrlih st o

(2) Tl anf Qafres geesn wrmaden anten ammfis-anfis fermame g
g0 a71for et <

(3) amfyrs anfor Rufdrr geesn wrmaRte antx v, wearr, feepra in wrdh
qrast T H1 IR qrEn

(4) T gd

Which of the following is/are a duties of National Commission for Backward
Classes ?

(1) To enquire into specific complaints with respect to the deprivation of rights
and safeguards of the socially and educationally backward classes

(2) To participate and advise on the socio-economic development of the
socially and educationally backward classes

(3) To discharge other functions in relation to the protection, welfare,

development and advancement of socially and educationally backward
classes

(4) All of the above

79. TAAdh! Hivdl NSt TehiE 3R ?

HRAT T q&T ¢ TUIATEN

(1) FgAR 9 31 sfean (wedand)) dft.em.-wm. - 1964

(2) FHFAR 9 A6 sfea (H.d1.3m.) - 1926

(3) =g TuT 9 (<f.wE. ) —- 1984

(4) ATa 3fean qume *Ud (T3 .H.) -~ 1998

Which of the following pair is incorrect ?

National Party of India Year of establishment

(1) Communist Party of India (Marxist) CPI-M - 1964
(2) Communist Party of India (CPI) ~ 1926
(3) Bahujan Samaj Party (B.S.P.) - 1984
(4) All India Trinamool Congress (AITC) - 1998

@ecdl SFHIATEE! ST / SPACE FOR ROUGH WORK

A
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80. g AT JBA1
3N, wm - | i, YENA TR
§. wm - 111 i, 99E US
®. wm - IX iii.  JmiEse
T ym -1l v, GHUST § 9 wrifs

(1)
(2)
(3)
(4)

) | | 6 g
iv i il i

iii i 1 iv
ii il i iv
iv i i iil

Match the pairs correctly.

SO wp

(1)
(2)
(3)
(4)

Part - I i. Fundamental Rights

Part - III 11. Panchayat Raj

Part - IX iii. Citizenship

Part - 11 iv. The Union and its territory
A B C D

iv i iii i

iii i ii iv

i 1i i iV

iv i ii iii

81. WEH JFFgEmde 3giaa &3 i rgiaa SHerdl I TeEAEEtt Tsaaediel aqal
(1) TSNS qee AHaAT

(4) | FUQ HFA HHE q¢e Thd
Provisions of the Constitution relating to the administration of Scheduled
Areas and Scheduled Tribes in Schedule -V

(1)
(2)
(3)

(4)

may be altered by the Governor

may be altered by the President

may be altered by the Parliament by Constitutional Amendment
requiring special majority

may be altered by the Parliament by ordinary legislation

&ocdl THHTETE WP / BPACE FOR ROUGH WORK P.T.O.
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82. ‘@i’ (SVAMITVA) Do 3feee) @refieiieh st amga ?
g, el s anfr simessavfrardt sfirfen s J9id aar .
%. Hrowash gefva s it .

g, o = fafvaa s,
(1) Faa A 2) s, wafrs (3) A, Fanmfhrg (4) abaHd

Which of the following are the objectives of the ‘SVAMITVA’ Scheme ?
A. Ensure financial stability to villagers by letting them use their property

to take loans.
Create precise land records for urban planning and implementation.

Lessen property related disputes.
Determine property tax.

) Only A (2) B,CandD (3) A,CandD (4) All of the above

83. A=Al Y& Y& (Zero Hour) 9l @ieitel faum fe=mra &
A, WHIOUSA ARG AT T vt 9w it aurE« Hivdal gHiEg
9. Y Y& OIH TE HISWETE, 968 WS Fehiesl 8.00 1 9.30 T Ja3d |HIIdid =T <dld.
%. T, Y TECEIH YR HAHER WS 18 Tl (&) ATsvar= Wamril 3.
T. Y qEEEd I SHivdiEl wqg T89edM, hivrcrdl feasht fhdt s arear Idie

cl=Rell>

IR FHHTA [AieT T8
el Sivrd! faume si=t 3med ?
(1) FA g (2) 3F,93MUE (3) &, FAMNE (4) A 3MUS

Consider the following statements regarding “Zero Hour’ of Lok Sabha :

A. The time immediately following the question hour and laying of papers
and before any listed business is taken up in the house has come to be
known as the zero hour.

B. For raising matters during the zero hour members has to give notice
between 8.00 a.m. to 9.30 a.m. everyday to the Speaker.

C. At present, thirty matters per day as per their priority are allowed to be
raised during zero hour.,

D. There is no maximum limit on the number of matters that can be raised
on any given day as there is no provision in rules about Zero Hour.
Which of the statements given above are correct ?

(1) Aand B (2) A,BandD (3) B,CandD (4) Aand D

o1 HIHTEE! ST / SPACE FOR ROUGH WORK
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84. wﬁamwmmmmmmmm
!

. Aaat sfalEa sa aemR g 7 e arad et g am.

q. A SR WA I vEen gudtalda wa fwr gugEine anfre o,
%. SO N F vy guadl gee) gamfye am.

3 ‘qUad a5 quEe’ ® fawy usy gefined amfae o,

(1) s (2) s, %anfrg (3) A, aanfrs  (4) 3, Fanfrz

Which of the following statements are correct regarding the legal relationship
between the Central and State Government in India ?

A. The subject of transfer of property other than agricultural land is included
in the Concurrent List.

B. The subject of wealth tax on property other than agricultural land is
included in the Union List.

C. The subject of entertainment tax is included in the Concurrent List.
D. The subject of ‘Antiquities Museum’ is included in the State List.
(1) A,BandC (2) B,CandD (3) A,BandD (4) A,CandD

85. HANRECHR {FEd I91 71 [eiet TS GHIAY THUATd e, Wielieileh! vl FeaerE
9 GUEY B A8 ?
. 3F=¥e 5131 THR Yeid Fdsd
II. 3183 368 FAR HAIE
III. 37=3¢ 352 TaR UF vfiamf
IV. 37<3¢ 123 J9R eEEH
(1) e | ST (2) e 1T SR
(3) Fh=dh g4 Tt (4) YR FHorad TR T

After the extensive discussion in the Constituent Assembly, the following
provisions was/were included. Which Article does not include ?
I. Fundamental duties under Art. 51A

II. Constitutional Amendment under Art. 368
III. National emergency under Art. 352
IV. Ordinance under Art. 123

(1) Only I correct (2) Only Il correct

(3) All of the above are correct (4) None of the above are correct
®Heeql ShHIHTATS! PN / SPACE FOR ROUGH WORK P.T.O.
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86. T 2022 ¥ 10 AN AWK T WE Hore TR AR FAT A 7

(1) wewrsg (2) I T

(3) Torsum (4) 3TE™

In which State was the 10th International Tourism Mart organized in November
2022 ?

(1) Maharashtra (2) Uttar Pradesh

(3) Mizoram (4) Assam

87. wielel RuR Rrew S 9 g R
a. WY W A TERIR TS g et el
b. g ¥ Higu TR TeEuTe B
c. d U2 THlETE TSR 3ATe.
(1) % a S 3R
(2) a 3T b Q=g TS TR
(38) a AU ¢ q=l S 3HT_d
(4) a, b 37T ¢ S 3T=d

Choose the correct option considering the following statements.

a. Ramesh Bais is appointed as the Governor of Maharashtra.
Earlier he was the Governor of Tripura State.

c. He belongs to Chhattisgarh State.

(1) Only a 1s correct

(2) a and b both are correct

(3) a and c both are correct

(4) a, b and c are correct

=41 FHTATATS ST / SPACE FOR ROUGH WORK
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88. I TS A A A s reher e
M. A WA= GHTHIQ AHIH @H A= ANUEH HOAT AT,
q. 91 Hifge=a aHeaeud) At g ai=h Ao wvam e,
%. 2030 vd FAYR I=RA O R 71 A IR IR
T, & ity Sie Ny smweie dumed gafava A,
Fhe T faum e,
(1) 3 37T § S AR
(2) o M1 8 S 3R
(3) 37, & 371 € TUK TR
(4) 31, § A T TR AR

Examine the following statements regarding the ‘Nutrition Promotion

Campaign’ of the United Nations.

A. Afshan Khan was nominated as the co-ordinator of this Campaign.
B. Antony Blinken was nominated as the co-ordinator of this Campaign.
C. To eradicate malnutrition by 2030 is the objective of this Campaign.
D.

This campaign is implemented in countries suffering with malnutrition

in the world.

Identify the correct statements from the above.
(1) A and B are correct

(2) C and D are correct

(3) A, C and D are correct

(4) A, B and D are correct

el SRHIHTATSI SIFT / SPACE FOR ROUGH WORK P.T.O.
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E.
(1)
(2)
(3)
(4)

In the Budget 2023 of Maharashtra State, which Corporations was announced
to be established ?

A.
B.
C.

D.
(1)
(2)
(3)
(4)

Raje Umaji Naik Economic Development Corporation.
Marathwada Milk Development Corporation.

Jagadjyoti Mahatma Basaveshwar Economic Development
Corporation.

Saint Kashiba Gurav Youth Economic Development Corporation.
Only Aand D

Only A, Cand D

Only B, Cand D

Only Band C

90, WEedd Hvd Iet 2023 THfid ‘g iEam-3a faema aftie’ 2 Iome 21 ?

(1)
(3)

ad1 fgeet (2) QTR
FATATATH (4) R I

Which of the following city was the host of ‘5th ASEAN-India Business Summit’

in 2023 ?
(1) New Delhi (2) Dhaka
(3) Kuala Lumpur (4) Singapore city

ZHecd] TIHTETE] FFT / BSPACE FOR ROUGH WORK
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91. TG REwh ? deler ow w1t Rawmmgm ==k am. a1 drefdenfreh @ fum e,
A, 'O gEEE diddas amR.
g
%
T

? e gnEs Tsardie et 39 .
2 heders Toreum Aefiet aaedt vda A9 AR,
. ¢ &g ufi didas ame.
(1) H& A T H U TR
(2) e 3 T § ST AR
(3) e & 9 & U IR
(4) S F TR AR

The Shrine of Sammed Shikharji has been in news for the past few days.
Identify the correct statements about this pilgrimage site.

A. It is the pilgrimage site of Jain community.

B. This pilgrimage site is at Girdhi in the Jharkhand State.

C. This pilgrimage site is at Aravali Mountain in Rajasthan.

D. It 1s the pilgrimage site of Hindu community.

(1) Only A and C are correct

(2) Only A and B are correct

(3) Only B and C are correct

(4) Only C is correct

92. “gehl’ T Ul YHIIRAHT HediaTdl WA shivrd firem Teaet ?
(1) ATRIA T=d
(2) SHATRIA Fee
(3) 3ITEE <&
(4) IT9EE F@l

Which Mission did India conduct to aid earthquake affected in ‘Turkey’ ?
(1) Operation Rahat

(2) Operation Hamdard

(3) Operation Dost

(4) Operation Sakha

HeedT ShTHATATS! ST / SPACE FOR ROUGH WORK P.T.O.
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§ ‘L. H9 15 gevia wrehiatd stat faum/fum e,

3. 1 aiwds sifes Jaffavar suwa w9l wEm .

5. Smfys Safafavm s smfesen sasaarh s,

. YU B 15" F Avaemg i Ead.

T, e ARed WSl WA, FAWH Sear g geavardrdt Sae

HOATE TE q HUOHS e Hereht IR,
(1) 31 3nfr § ST TR (2) § T S 3R
(3) « M % s AR (4) 3, & 371 8 S 3R

Identify the correct statement/s from the following in relation to the
UN COP 15’

A. The Global Biodiversity Agreement was approved by this Council.

B. The Global Biodiversity Agreement was done under the Presidency of
America.

C. China presided ‘UN COP 15’.

D. There 1s a need to make efforts to reduce the consequences of climate

change and the conservation of threatened species in the agreement.
(1) A and B are correct (2) B and D are correct

(3) B and C are correct (4) A, C and D are correct

94, Wreliciae! ol 7t feoeht 39 ... Afgen Smfaes sifeaT STaRE, 2023 3 IgERA

& 7
(1) i 3gam fam 2 (2) #f 75 A
(3) 4 wfHa e (4) et S sESi

Who among the following inaugurated IBA Women’s World Boxing
Championship, 2023 in New Delhi ?

(1) Shri Anurag Singh Thakur (2) Shri Narendra Modi
(3) Shri Amit Shah (4) Smt. Jayashree Banerjee

el FIHTETE AP / SPACE FOR ROUGH WORK
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A R fadd 2022 B

a. el HersHoll i, afie
b. @&l Fard i, )
c. W& /A iii., gfgees

(3) iii il i
(4) i ii iii
Match the following.

Winner of Arjun Award 2022 Sports

a. Bhakti Kulkarni i. Badminton

b. Sakshi Kumari ii. Kabaddi

c. Lakshya Sen iii. Chess
2 b C

(1) 1 iii 11

(2) ii i iii

(3) iii ii i

(4) 1 11 111

96. TN 2023 ULl T U3 G fames it faem st (f.0e. AR Ee.) 3 =y
TEU[ =hivIenl (e el 38 7

Who has been appointed as the Chairman of Pension Fund Regulatory and
Development Authority (PFRDA) by Government in March 2023 ?

(1)
(2)
(3)
(4)

Amitava Mukharjee
Deepak Mohanty
Rajesh Malhotra

Supratim Bandopadhyay

&Heedl hIHTETSI SIFT / SPACE FOR ROUGH WORK

P.T.O.
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i3

97. 25 # Uiy §-megdq uwg, 2022 HNS AR et Bt ?
(1) ®eem - IS

(2) &% - WET

(3) IMEHIETR - T

(4) T - Y AR

Where was the 25 National E-Governance Conference, 2022 held ?
(1) Kollam - Kerala

(2) Mumbai - Maharashtra

(3) Ahmedabad - Gujarat

(4) Katra - Jammu Kashmir

98. FHEh! 4 2023 =1 A gt o7 woren el geft anfor wfen wwfifa e 2
(1) = (2) STHITORH

) -CIES (4) feguaT™

UNESCO has dedicated International Education Day of 2023 to which

country’s girls and women ?
(1) Iran (2) Afghanistan
(3) Israel (4) Vietnam

99. 2023 Y FHIT eIM4 fefes g Ieoi@ ol Aleas aSal AR ?

(1) sHefemn (2) e
(3) Taegeie (4) HST

Which country has removed the mention of the British Monarchy from its

currency notes in 2023 ?
(1) Australia (2) New Zealand
(3) Switzerland (4) Canada

#ecdl FHIHTETS /PN / SPACE FOR ROUGH WORK
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100. 2023 =41 ‘ggusfl’ qrEsiEEa Sesn |,

ST A
a. Y qan i, fagm anfor sfrifeh
b. i "eg U i, @fger anfor freqor
c. JHIYE UTS iii. ohell
d. W @ iv, U HH
a b c d
(1) i @i i v
(2) i i v i
(3) i iv i i
(4) i i iv i

Match the pairs about ‘Padma Shri’ Award, 2023.

Person Field
a. Ramesh Patange i. Science and Engineering
b. Dr. Mahendra Pal ii. Literature and Education
c. Uma Shankar Pande iii. Art
d. Parshuram Khune iv. Social Work
a b c d
(1) 11 iii i iv
(2) 1u 1 v i
(3) 1 Ay i 11
(4) 1 i iv il
FHoed] HIATETE! AN / SPACE FOR ROUGH WORK P.T.O.
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